BUW_(%4) W LPL 7 Frb A IR A A LR

HT%%%5  |HT No: HT8010006
801106/801202/801325

4+ 42 |Diameter: ¢ 126/ ¢ 122

Kz i ## |Belt Groove Type: 4-PK

Bft47k |Bearing Size: 35X 52X 22

WAL %50 [Hub Axlehole: 13.5X25X0.5

HEHE |Rated Voltage: 12V

& 4% Hl |Compressor: NipponDenso

EAEHLIY /R R Ay 7SB16C/E36 E38 E39°

Compressor No/Model/year: 7SBU16C/1990-2004

J5i] %5 |Compressor 0.E.M: 64526904017/64526914369/64528363275

HT%%%5  |HT No: HT8010021
801121/801202/801354

4+ 42 |Diameter: ¢ 126/ ¢ 122

M 4 # |Belt Groove Type: 4-PK

Reficih7K |Bearing Size: 30X 52X22

W% FL |Hub Axlehole: 13.5X25X0.5

e HE |Rated Voltage: 12V

& 4% Hl |Compressor: NipponDenso

FEAENLIY /2R R /A4 10PA17C/E34 E36/1991-1997

Compressor No/Model/year:

J5 ) %5 |Compressor 0. E.M: 64521385172/64521390589/64528371021

HT%#%5  |HT No: HT8010046
801146/801202/801354

4k 4% |Diameter: ¢ 133

2 # ## |Belt Groove Type: 1-A

Reficih & |Bearing Size: 30X 52X 22

Wit 4hfL |Hub Axlehole: 13.5X25X%X0.5

HEHE |Rated Voltage: 12V

JE 4% Hl |Compressor: NipponDenso

FEAEHLIY /R R /Ay 10PA17C/E34

Compressor No/Model/year: 10PA17C/1988-1995

Ji) %5 |Compressor 0. E.M: 64521389418/64528363551/64528385907

HT%%5  |HT No: HT8010088
801188/801202/801354

4+ 42 |Diameter: ¢ 115/ ¢ 110

&z # # |Belt Groove Type: 5-PK

ReficihA& |Bearing Size: 30X52X22

W #L#FL |Hub Axlehole: 13.5X25X%X0.5

FEHE |Rated Voltage: 12V

& 4% #l |Compressor: NipponDenso

FEARHLIY /2R /A4 10PA17C/E31"E34"E36/1990-2001

Compressor No/Model/year: BMW 5 E34 / 3 E36

J& ) %5 |Compressor 0. E.M: 64521385161/64528385908/64528385909

HT%%%5  |HT No: HT80100159
8011159/801223/801336

4k 4% |Diameter: ¢119/¢ 115

& # #% |Belt Groove Type: 5-PK

Reficih & |Bearing Size: 35X 52X 22

WAL %FL |Hub Axlehole: 12.5X23X0.5

WiEHE |Rated Voltage: 12V

JE 4% Ml |Compressor: Delphi

FEAEHLTY /R /A4y CVC/LACROSSE/2008

Compressor No/Model/year:

J5) %5 |Compressor 0. E. M:




BUW_(%4) W LPL 7 Frb A IR A A % 2
HT%# % [HT No: HT80100171
t 8011171/801202/801325
4+ 4% |Diameter: ¢ 125/ ¢ 120
% i ## |Belt Groove Type: 6-PK
Rfich A& |Bearing Size: 35X 52X 22
\ WAkl |Hub Axlehole: 13.5X25%0. 5
HiEHE |Rated Voltage: 12V
& 4% Hl |Compressor: NipponDenso
FEAENLIY /R /A4y 7SB16C/E39/1996-2004
Compressor No/Model/year:
J7) 45 |Compressor 0. E. M:
HT%4%%5  |HT No: HT80100180
t 8011180/801202/801325
4 4 |Diameter: ¢ 110
Mz 4 # |Belt Groove Type: 5-PK
Reficih7K |Bearing Size: 35X52X22
WA FL |Hub Axlehole: 13.5X25X0.5
HEHE |Rated Voltage: 12V
& 4% Hl |Compressor: NipponDenso
FEARHLIY /2R R /A4 7SBU16C/E38 E39/1995-2005
Compressor No/Model/year: BMW 5 E39
Ji) 45 |Compressor 0.E.M:  |64528363485 ; 64526910458
447260-1780/64528363485/64526904015
HT%%%5  |HT No: HT80100180A
8011180A/801202/801325
t 4k & |Diameter: ¢ 110
% # ## |Belt Groove Type: 5-PK
RFRHl 7&K |Bearing Size: 30X52X22
WAL FL |Hub Axlehole: 13.5X25X%X0.5
FiEHE |Rated Voltage: 12V
JE 4% Hl |Compressor: NipponDenso
FEAEHLIY /R /A4y 10S17C/E53" X5/2000-2004
Compressor No/Model/year:
J5i] 4w'5 |Compressor 0. E. M: 64526921650/447220-3322
/ HT#E  |HT No: HT80100180B
8011180B/801202/801348A
4 4 |Diameter: ¢ 110
S # ## |Belt Groove Type: 5-PK
ReficihA& |Bearing Size: 30X52X22
W fL A 7L |Hub Axlehole: 13.5X25X0.5
FEHE |Rated Voltage: 12V
JE 4i #Hl |Compressor: NipponDenso
FEARHLIY /2R R /A4 10S17C/E53" X5/2000-2004
Compressor No/Model/year:
J5) %5 |Compressor 0. E.M:
HT%i%%  |HT No: HT80100220
t 8011220/801202/801325
4k & |Diameter: ¢ 110
7 # #% |Belt Groove Type: 4-PK
Reficih&K |Bearing Size: 35X 52X 22
WA FL |Hub Axlehole: 13.5X25X0.5
WiEHE |Rated Voltage: 12V
JE 4% Ml |Compressor: NipponDenso
RGN/ 2R/ 44y - 7SBU16C/E83™ /2004~
Compressor No/Model/year:
Ji 4m'5 |Compressor 0. E. M: 64526916232/64526936883

e




BV _(%%4)

EIR % S # 3

7

~

HT% 5  [HT No:

4 4 |Diameter:

% i ## |Belt Groove Type:

Bft4h7k |Bearing Size:
Wit hFL |Hub Axlehole:
HiEHE |Rated Voltage:
& 4% Hl |Compressor:
AN/ R84

Compressor No/Model/year:

J&) %% |Compressor 0.E. M:

HT80100304
8011304/801202/801354
¢115/¢ 110

6-PK

30X 52X 22
13.5X25%0. 5

12V

10PA17C

BMW 7 E38 730/740/750

64528367983 ; 64528385918

HT4w'5  |HT No:

4 4 |Diameter:

Mz 4 # |Belt Groove Type:

Reficih7K |Bearing Size:
W%t 4hFL |Hub Axlehole:
HEHE |Rated Voltage:
JE 4i L |Compressor:
RN/ 7R 8/ A7

Compressor No/Model/year:

J5) %5 |Compressor 0.E.M:

HT80100397
8011397/801202/801302
¢ 110

8-PK

13.5X25X0.5

12V

7SBU17C

BMW 5 Touring 523i/528i/5301
/7-Series 7301

64509196890 ; 64529165808

HT4%'5 |HT No: HT80100398
8011398/801202/801348

4k 42 |Diameter: ¢115/¢ 110

% # ## |Belt Groove Type: 7-PK

RFRHl 7&K |Bearing Size: To i

WAL FL |Hub Axlehole: 13.5X25X%X0.5

FiEHE |Rated Voltage: 12V

JE 4% Hl |Compressor: NipponDenso

FEAEHLIY /R /A4y 6SBU16C

Compressor No/Model/year:

Ji) 45 |Compressor 0.E. M:

HT4w5  |HT No: HT80100447
8011447/801202/801331]J

4~ 4% |Diameter: 113/110

S # ## |Belt Groove Type: 8-PK

ReficihA& |Bearing Size: 35X 52X 22

W fL A 7L |Hub Axlehole: 13.5X25X0.5

FEHE |Rated Voltage: 12V

JE 4i #Hl |Compressor: NipponDenso

FEARHLIY /2R R /A4 10PA17C

Compressor No/Model/year: BMWGT/F18

J5) %5 |Compressor 0. E.M:

@
¢
©
P
(
»
(
p,

HT4%%5 |HT No:

4 4% |Diameter:

K7 i ## |Belt Groove Type:

Reficih&K |Bearing Size:
W% FL |Hub Axlehole:
WiEHE |Rated Voltage:
JE %4 Hl |Compressor:
RN/ 7R85 4)

Compressor No/Model/year:

J5) %5 |Compressor 0. E. M:

4% 5 :HT8020087
802187/809212/802318G
109/105

6-PK

35X50X20
12.5X23X0. 5

12V

Ccve

BMW Mini Cooper 1.6L

64521171310; 64526918122




BV (%%)

L3I E i (A R 4 A %40

HT%# %  [HT No: 'HT80200142
8021142/809212/802318

4+ 4% |Diameter: ¢ 110/ ¢ 105

% i ## |Belt Groove Type: 6-PK

Rfich A& |Bearing Size: 35X 50X 20

WAL FL |Hub Axlehole: 12.5X23X0.5

HiEHE |Rated Voltage: 12V

& 4% Hl |Compressor: Delphi

RN/ 2R/ Sy CVC/ 5 GMINT

Compressor No/Model/year:

Ji) 45 |Compressor 0. E. M:

HT%%%5  |HT No: HT8030035
803135/803216/803319

4+ 4 |Diameter: ¢ 135

Mz 4 # |Belt Groove Type: 1-B

Reficih7K |Bearing Size: 35X 55X 20

WA FL |Hub Axlehole: 13.5X25X0.5

HEHE |Rated Voltage: 12V

JE 4i L |Compressor: Bosch

FEARHLIY /2R R /A4 BOSCH

Compressor No/Model/year:

J5) %5 |Compressor 0.E.M:

BMW E30 E32 E34/1978-1994

64521367458/64521391742/64521373355

HT%%%5 |HT No:

45 4 |Diameter:

% i # |Belt Groove Type:

Reficih& |Bearing Size:
Wi At AHFL |Hub Axlehole:
FiEHE |Rated Voltage:
JE 4i #l |Compressor:
RN/ R84 Ap

Compressor No/Model/year:

J&) 445 |Compressor 0.E. M:

HT8030060
803160/803234/803333
¢ 110

4-PK

35X55X20
12.5X23X0. 5

12V

CSE717/X6

447190-9951

HT4w5  |HT No:

4 4 |Diameter:

S # ## |Belt Groove Type:

Rfii 47K |Bearing Size:
W At 4hFL |Hub Axlehole:
FEHE |Rated Voltage:
JE 4i #Hl |Compressor:
RN/ 7R84

Compressor No/Model/year:

J5) %5 |Compressor 0. E.M:

HT8030063
803163/806204A/806306
¢ 110

6-PK

35X 55X 20
12.5X23X0.5

12V

CSV613/E46/1998-2005

64526908660/64526918751

HT4w%S  |HT No:

4 4% |Diameter:

Bz k4 |Belt Groove Type:

Reficih&K |Bearing Size:
W% FL |Hub Axlehole:
WiEHE |Rated Voltage:
JE %4 Hl |Compressor:
RN/ 7R85 4)

Compressor No/Model/year:

J5) %5 |Compressor 0. E. M:

HT8060003
806103/806202/806302
¢ 115

4-PK

32X55X23
12.5X23X0. 5

12V

SS96D1/E36" 73/1993-2000

64528390228/64528390228/64529069546




BUW_(%4) W LPL 7 Frb A IR A A R
HT%# %  [HT No: 'HT8060006
r 806106/806202/806302

4 4 |Diameter: ¢110

% i ## |Belt Groove Type: 5-PK

Rfich A& |Bearing Size: 32X 55X 23

WAL FL |Hub Axlehole: 12.5X23X0.5

HiEHE |Rated Voltage: 12V

& 4% Hl |Compressor:

FEAENLIY /R /A4y SS96D1/E36° 73

Compressor No/Model/year: SS96D1/1995-2000

JiJ 4m'5 |Compressor 0. E. M: 64528385715/64528391474/64529069547

HT%%%5  |HT No: HT8060010
806110/806204/806306

4% 42 |Diameter: ¢ 110

Mz 4 # |Belt Groove Type: 5-PK

Reficih7K |Bearing Size: 35X 55X 20

WA FL |Hub Axlehole: 12.5X23X0.5

HEHE |Rated Voltage: 12V

& 4i Hl |Compressor: Calsonic Kansei

FEARHLIY /2R R /A4 CWV613/2002

Compressor No/Model/year:

J5) %5 |Compressor 0. E.M: 2629000c11

HT%%%5  |HT No: HT8060013
806113/806206/802303

4k & |Diameter: ¢ 132

% # ## |Belt Groove Type: 1-A

RFRHl 7&K |Bearing Size: 40X 62X 24

WAL FL |Hub Axlehole: 12.5X23X%X0.5

FiEHE |Rated Voltage: 12V

JE 4i #l |Compressor:

FEAEHLIY /R /A4y SS811PB5/E30 E36/1981-1997

Compressor No/Model/year:

J5) %% |Compressor 0.E. M: 64521380155/64528385712/64528385713

HT%%5  |HT No: HT8060015
806115/806208/806306

4 4 |Diameter: ¢ 110

S # ## |Belt Groove Type: 5-PK

ReficihA& |Bearing Size: 32X55X23

W fL A 7L |Hub Axlehole: 12.5X23X0.5

FEHE |Rated Voltage: 12V

JE 4i #Hl |Compressor:

FEARHLIY /2R R /A4 SS120DL1/E46 E39/1998-2005

Compressor No/Model/year:

J& ) %5 |Compressor 0. E.M: 64526901206/64528375319

HT%%%5  |HT No: HT8060026
806126,/806202A/806302

4k & |Diameter: ¢ 115

K7 i ## |Belt Groove Type: 4-PK

Rficih &K |Bearing Size: 30X47X18

W% FL |Hub Axlehole: 12.5X23X0.5

WiEHE |Rated Voltage: 12V

JE 4% Ml |Compressor: Seiko—SeikiSS120

FEAEHLTY /R /A4y BMW E36/E39/E46

Compressor No/Model/year:

J5) 4’5 |Compressor 0. E. M:




BV _(%%4)

L3I E i (A R 4 A % 6

HT4% 5 [HT No:

4 4 |Diameter:

% i ## |Belt Groove Type:

Bft4h7k |Bearing Size:
Wit hFL |Hub Axlehole:
HiEHE |Rated Voltage:
& 4% Hl |Compressor:
AN/ R84

Compressor No/Model/year:

J&) %% |Compressor 0.E. M:

'HT8060027
806127/806202A/806302
¢ 110

5-PK

30X47X18
12.5X23X0.5

12V

Calsonic

SS120

BMW E36/E39/E46

HT%%5  |HT No: HT8120008
812108/812218

4% 42 |Diameter: ¢113/¢110

Mz 4 # |Belt Groove Type: 6-PK

Reficih7K |Bearing Size: 35X 52X 20

WA FL |Hub Axlehole: 12.5X23X0.5

HEHE |Rated Voltage:

& 4% Hl |Compressor: Delphi

RN/ 7R 8/ A7 CVC/%E5E39

Compressor No/Model/year:

J5) %5 |Compressor 0.E.M:

HT%%%5  |HT No: HT8120013
812113/812202

4k & |Diameter: ¢ 100

% # ## |Belt Groove Type: 4-PK

RFRHl 7&K |Bearing Size: 35X52X12

WAL FL |Hub Axlehole: M10X1. 25

FiEHE |Rated Voltage:

JE 4i #l |Compressor: NipponDenso

JEARHL/ R oy

Compressor No/Model/year:

J&) 445 |Compressor 0.E. M:

7SEU17C/E60 E65 E66/2003
BMW 5 E60

6452691785905/447220-9370

HT4%5  |HT No:

4 4 |Diameter:

S # ## |Belt Groove Type:

Rfii 47K |Bearing Size:
W At 4hFL |Hub Axlehole:
FEHE |Rated Voltage:
JE 4i #Hl |Compressor:
RN/ 7R84

Compressor No/Model/year:

J5) %5 |Compressor 0. E.M:

HT8120013A
812113A/812210
¢ 100

4-PK
35X52X12
M10X1. 25

Denso 7SEU17C

BMW 530/525

HT4w%S  |HT No:

4 4% |Diameter:

K7 i ## |Belt Groove Type:

Reficih&K |Bearing Size:
W% FL |Hub Axlehole:
WiEHE |Rated Voltage:
JE %4 Hl |Compressor:
RN/ 7R85 4)

Compressor No/Model/year:

J5) %5 |Compressor 0. E. M:

HT8120020
812120/812209
¢ 109/ ¢ 105
6-PK
35X55X20
12.5X23X0. 5

Calsonic Kansei
CSE613C/E90/2006

64529182793




BUW_(%4) W LPLAR )T F B A IR 4 7] L
HT%%  [HT No: 81200224
A 812122A/812210
4\’@5 4 4 |Diameter: ¢116/¢ 110
o [N J% # f \Belt Groove Type: |6-PK
E Rficih A& |Bearing Size: 35X52X12
B WAL FL |Hub Axlehole: M10X1. 25
il A e e [Rated Voltage:
< BEE JE 4§ ¥l |Compressor No: Denso 6SEU14C
EHZER |Car Model: (£ 5)BMW 735
BMW E63/E64/E65/E66
Al 1
= J5) 405 |Compressor 0.E.M: 64526956715 ; 64526918753
HT%#5  |HT No: HT8120027
812127/812206
4% 42 |Diameter: ¢ 110
Mz 4 # |Belt Groove Type: 4-PK
Reficih7K |Bearing Size: 35X52X22
WA FL |Hub Axlehole: 13.5X25X0.5
HEHE |Rated Voltage:
& 4% Hl |Compressor: NipponDenso
FEARHLIY /2R R /A4 7SEU16C/7351/2004~
Compressor No/Model/year:
JA 4w |Compressor 0.E. M: 447220-8472
HT%%%5  |HT No: HT8120033
812133/812202
4k & |Diameter: 110
% # ## |Belt Groove Type: 4PK
RFRHl 7&K |Bearing Size: 35X 52X 12
W A7l |Hub Axlehole: M10X 1. 25
FiEHE |Rated Voltage:
JE 4% Hl |Compressor: Denso 7SEU17C
RN/ 2R/ A Ay
Compressor No/Model/year: BMW 760 BMW 5 E65 N62
J5i] 4w'5 |Compressor 0. E. M: 64526925721/64526921649
HT4#5  |HT No: HT8120034A
812134A/812210
4 4 |Diameter: ¢ 110
S # ## |Belt Groove Type: 6-PK
ReficihA& |Bearing Size: 35X52X12
W fL A 7L |Hub Axlehole: M10X 1. 25
FEHE |Rated Voltage:
JE 4i #Hl |Compressor: NipponDenso
FEARHLIY /2R R /A4 6SEU16C/525D
Compressor No/Model/year: 2008
J& ) %5 |Compressor 0. E.M: 64526980044-03
HT4#5  |HT No: HT8120053
812153/812202
4k & |Diameter: ¢ 100
7 # #% |Belt Groove Type: 6-PK
Reficih&K |Bearing Size: 35X52X12
WA FL |Hub Axlehole: M10X 1. 25
WiEHE |Rated Voltage:
JE 4% Ml |Compressor: NipponDenso
FEAEHLTY /R /A4y 5SE12C/E81 E87 90/2004-2005
Compressor No/Model/year:
J& ) %5 |Compressor 0. E.M: 64526935613/64526987766/447190-6264




BUW_(%4) W LPL 7 Frb A IR A A

HT%# %  [HT No: HT8120061
812161/812210

4 4 |Diameter: ¢ 100

% i ## |Belt Groove Type: 4-PK

Rfich A& |Bearing Size: 35X52X12

WAL FL |Hub Axlehole: M10X1. 25

HiEHE |Rated Voltage:

& 4% Hl |Compressor: NipponDenso

FEAENLIY /R /A4y 7SEU17C/E60

Compressor No/Model/year:

J7) 45 |Compressor 0. E. M:

HT%%%5  |HT No: HT8120097
812197/812210

4 & |Diameter: ¢ 105/¢ 100

Mz 4 # |Belt Groove Type: 6-PK

Reficih7K |Bearing Size: 35X52X12

WA FL |Hub Axlehole: M10X 1. 25

HEHE |Rated Voltage:

& 4% Hl |Compressor: NipponDenso

FEARHLIY /2R R /A4 7SEU17C

Compressor No/Model/year: BMW

J5) %5 |Compressor 0.E.M:

HT4%'5 |HT No: HT81200138

8121138/812227

4k 42 |Diameter: 115/110

% # ## |Belt Groove Type: 8-PK

RFRHl 7&K |Bearing Size: 35X52X20

WAL FL |Hub Axlehole: M10X1. 25

FiEHE |Rated Voltage:

JE 4% Hl |Compressor: 7SEU17C

RN/ R84 Ap

Compressor No/Model/year: BMW X3 2015
64529217869

Ji) %5 |Compressor 0. E. M:

HT4w5  |HT No: HT81200140
8121140/812210

4 4 |Diameter: ¢ 110

S # ## |Belt Groove Type: 7-PK

ReficihA& |Bearing Size: 35X52X12

W fL A 7L |Hub Axlehole: M10X 1. 25

FEHE |Rated Voltage:

JE 4i #Hl |Compressor:

RN/ 2R/ A Ay 7SEU16C

Compressor No/Model/year: BMW

J5) %5 |Compressor 0. E.M:

HT4%4%5  |HT No: HT81200151
8121151/812202

4k & |Diameter: ¢ 110

7 # #% |Belt Groove Type: 4-PK

Reficih&K |Bearing Size: 35X52X12

WA FL |Hub Axlehole: M10X 1. 25

WiEHE |Rated Voltage:

JE %4 Hl |Compressor:

FEAEHLTY /R /A4y 7SEU17C

Compressor No/Model/year: BMW

J5) 4’5 |Compressor 0. E. M:




IR EI WL

HT%%  [HT No: HT81200153
8121153/812202

4 4 |Diameter: ¢110

% i ## |Belt Groove Type: 8-PK

Rfich A& |Bearing Size: 35X 52X 22

WAL FL |Hub Axlehole: M10X1. 25

HiEHE |Rated Voltage:

& 4% Hl |Compressor:

RN/ 2R/ Sy 7SEUL7C

Compressor No/Model/year: BMW

J7) 45 |Compressor 0. E. M:

HT4w'5  |HT No: HT81200157
8121157/812206

4% 42 |Diameter: ¢ 114/ ¢ 110

Mz 4 # |Belt Groove Type: 6-PK

Reficih7K |Bearing Size: 35X52X22

WA FL |Hub Axlehole: 13.5X25X0.5

HEHE |Rated Voltage:

JE 4i L |Compressor:

FEARHLIY /2R R /A4 6SEU12C

Compressor No/Model/year: BMW-E66

J5) %5 |Compressor 0.E.M:

HT4w5  |HT No: HT81200171
8121171/812206

4k 42 |Diameter: ¢ 107/¢ 102

% # ## |Belt Groove Type: 4-PK

RFRHl 7&K |Bearing Size: 35X52X22

WAL FL |Hub Axlehole: 13.5X25X%X0.5

FiEHE |Rated Voltage:

JE 4% Hl |Compressor: 6SEU12C

RN/ R84 Ap

Compressor No/Model/year: BMW-5

Ji) %5 |Compressor 0. E. M:

HT%%5  |HT No: HT80100410
8011410/801247/801334]

4~ 4% |Diameter: ¢ 110/ ¢ 105

S # ## |Belt Groove Type: 7-PK

ReficihA& |Bearing Size: 35X52X20

W fL A 7L |Hub Axlehole: 13.5X25X0.5

FEHE |Rated Voltage: 12V

JE 4% Hl |Compressor: 10S11

FEARHLIY /2R R /A4 BMW MINI (R50, R53)0One D2003-2006

Compressor No/Model/year:

J5) %5 |Compressor 0.E.M:




